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[nstructions to the candidate:
o There are 10 Questions.
o All Questions are Compulsory.

You should download the question-and-answer booklet, take its print-out, attempt the questions and

then scan the same using various mobile apps like Cam Scanner etc. on your mobile, Convert the file
using these apps to PDF and upload.

You will be able to upload thefilefromAwhere you had downloaded the question-and-answer booklet.
In case you face any difficulties, you can write to us at sleepy.classes@gmail.com.

Those candidates who are not writing on the printed booklet are to leave margins on their answer sheet
for cominents.

The above-said candidates are to then make their own evaluation sheet in the format stated below to
be uploaded with the answer.

Compulsory to name your PDF file in the following format (Student Complete Name_Test Number)
e.g.: (Kriti Rathor_Mains Test-5)

Comments for the purpose of evaluation of Answer Writing:

\ Relevance to the question

Structure of Answer

Content \
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Presentation (Neatness,
charts, diagrams as
required)
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Sociology Test Series
. Half-Length Test - 3

WT Examine M.N. Srinivas's critique of([ndology)as a theoretical construct of Indian Society, and
elaborate His views og@g studies>
— oD Xd

. M . — - @)
s/3. The Colonial rule caused both\/cultural/and structural changes in India. Discuss.
4 ngh i
n @i vak
Ques 3. Give an account of Ranajit Guha’s approach in studying ‘subaltern class’. 0=
- C/K(%) /7

exercise their rigorous hold”- Dipankar Gupta. Examine the statement in the light of changing structure of
ndian villages. - ' « A rOandiy

\ sk ¢
\]Qf/.les 4. The twin shackles that once decided matters for India’s villagers, égte and agriculture, no longer
Qyﬁow has B.R. Ambedkar identified the features of the caste system? How is it different from the

- LHOP - W

i ?
mai stre/a,}n treatment of cagte features? T Tt @
Ques ¢ Examine the distinct'challenges encountered by tribal communities in India. Evaluate the efficacy
okedtrent tribal development policies in mitigating these challenges. s éﬁ;‘*jﬁ TJM%ZL&,

Q:.Z/;. Indian Middle Class is actually a Privileged Class', Discuss the statement within the evolving
lardscape of social relations in contemporary India. 2 3w/ " Veima o DGupla WO
s o Letlp P o “—

Gnu/e?)% The culture of society and its religious beliefs often coexists, however, sometimes they stand against
«hothet. — —

Ques 9/Discuss the societal implication of the 'service sector revolution' on the gender-based division of
labouf /e =¥ & drornads W\pe;w»%c — Glood +
. ‘Qﬂwé\ walleg 'y crond W W0y Vs ot

Ques 10. Identify and analy{x{he primary challenges hindering in enacting a uniform Civil Code in India.

(All the Questions shall be answered in not more than 150 words)
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Answer Question in NOT MORE THAN the Word Limit for each in the Parenthesls. .
(Specimen Answer Booklet - For Practice Purpose Only)
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Answer Question in NOT MORE THAN the Word Limit for each in the Parenthesis.
(Specimen Answer Booklet - For Practice Purpose Only)
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